

ON PARTIALLY DEGENERATE BELL NUMBERS AND POLYNOMIALS

TAEKYUN KIM, DAE SAN KIM, AND DMITRY V. DOLGY

ABSTRACT. Recently, several authors have studied Bell numbers and polynomials, also called Tochar polynomials or exponential polynomials, by using and without using umbral calculus. In this paper, as a degenerate version of ordinary Bell numbers and polynomials, we introduce the partially degenerate Bell numbers and polynomials and give some new identities for those numbers and polynomials related with Stirling numbers of the first and second kind.

1. Introduction

As is well known, the Bell polynomials (also called Tochar polynomials or exponential polynomials and denoted by $\phi_n(x)$) are defined by the generating function

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!}, \quad (\text{see [14 – 20]}). \quad (1.1)$$

The first few of them are

$$\begin{aligned} Bel_0(x) &= 1, \quad Bel_1(x) = x, \quad Bel_2(x) = x^2 + x, \quad Bel_3(x) = x^3 + 3x^2 + x, \\ Bel_4(x) &= x^4 + 6x^3 + 7x^2 + x, \quad Bel_5(x) = x^5 + 10x^4 + 25x^3 + 15x^2 + x, \\ Bel_6(x) &= x^6 + 15x^5 + 65x^4 + 90x^3 + 35x^2 + x, \dots \end{aligned}$$

From (1.1), we can easily derive the following equations:

$$Bel_n(x+y) = \sum_{l=0}^n \binom{n}{l} Bel_l(x) Bel_{n-l}(y), \quad (n \geq 0), \quad (\text{see [15, 16]}). \quad (1.2)$$

2010 *Mathematics Subject Classification.* 11B73, 11B83.

Key words and phrases. partially degenerate Bell numbers and polynomials, Stirling number of the first kind, Stirling number of the second kind.

For $n \geq 0$, the Stirling numbers of the first kind are defined as

$$(x)_0 = 1, \quad (x)_n = x(x-1) \cdots (x-n+1) = \sum_{l=0}^n S_1(n, l)x^l, \quad (n \geq 1). \quad (1.3)$$

and the Stirling numbers of the second kind are given by

$$x^n = \sum_{l=0}^n S_2(n, l)(x)_l, \quad (\text{see [1-13]}). \quad (1.4)$$

It is well known that the generating function of $S_1(n, l)$ and $S_2(n, l)$ are given by

$$\left(\log(1+t)\right)^n = n! \sum_{m=n}^{\infty} S_1(m, n) \frac{t^m}{m!}, \quad (1.5)$$

and

$$(e^t - 1)^n = n! \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!}, \quad (\text{see [12-13]}). \quad (1.6)$$

From (1.1), we note that

$$\begin{aligned} e^{x(e^t-1)} &= \sum_{m=0}^{\infty} x^m \frac{1}{m!} (e^t - 1)^m = \sum_{m=0}^{\infty} x^m \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n x^m S_2(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (1.7)$$

Thus by (1.1) and (1.7), we get

$$Bel_n(x) = \sum_{m=0}^n x^m S_2(n, m), \quad (n \geq 0), \quad (\text{see [14, 15]}). \quad (1.8)$$

When $x = 1$, $Bel_n = Bel_n(1) = \sum_{m=0}^n S_2(n, m)$ are called Bell numbers. Now, we observe that

$$\begin{aligned} e^{x(e^t-1)} &= e^{-x} e^{xe^t} = e^{-x} \sum_{l=0}^{\infty} \frac{x^l}{l!} e^{lt} \\ &= \sum_{n=0}^{\infty} \left(e^{-x} \sum_{l=0}^{\infty} \frac{x^l}{l!} t^n \right) \frac{t^n}{n!} \end{aligned} \quad (1.9)$$

From (1.1) and (1.9), we have

$$Bel_n(x) = e^{-x} \sum_{l=0}^{\infty} \frac{x^l}{l!} l^n, \quad (\text{see [12, 14, 15]}), \quad (1.10)$$

and

$$Bel_n = \frac{1}{e} \sum_{l=0}^{\infty} \frac{1}{l!} l^n, \quad (n \geq 0). \tag{1.11}$$

Recently, the degenerate Bell polynomials were introduced by the generating function

$$(1 + \lambda)^{\frac{x}{\lambda}} ((1 + \lambda t)^{\frac{1}{\lambda}} - 1) = \sum_{n=0}^{\infty} Bel_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [13]}). \tag{1.12}$$

When $x = 1$, $Bel_{n,\lambda} = Bel_{n,\lambda}(1)$ are called the degenerate Bell numbers. Note that $\lim_{\lambda \rightarrow 0} Bel_{n,\lambda}(x) = Bel_n(x)$, $(n \geq 0)$. Indeed, the degenerate Bell numbers and polynomials are given by

$$Bel_{n,\lambda} = \sum_{k=0}^n \sum_{m=0}^k \left(\frac{\log(1 + \lambda)}{\lambda} \right)^m S_1(n, k) S_2(k, m) \lambda^{n-k}, \tag{1.13}$$

and

$$Bel_{n,\lambda}(x) = \sum_{k=0}^n \sum_{m=0}^k \left(\frac{\log(1 + \lambda)}{\lambda} \right)^m S_1(n, k) S_2(k, m) \lambda^{n-k} x^m, \tag{1.14}$$

where $\lambda \in \mathbb{R}$ and $n \geq 0$, (see [13]). In this paper, as a degenerate version of ordinary Bell numbers and polynomials, we introduce the partially degenerate Bell numbers and polynomials and give some new identities for those numbers and polynomials related with Stirling numbers of the first and second kind.

2. Partially degenerate Bell numbers and polynomials

For $\lambda \in \mathbb{R}$, we consider the partially degenerate Bell polynomials which are defined by the generating function

$$F(t, x) = e^{x((1 + \lambda t)^{\frac{1}{\lambda}} - 1)} = \sum_{n=0}^{\infty} bel_{n,\lambda}(x) \frac{t^n}{n!}. \tag{2.1}$$

When $x = 1$, $bel_{n,\lambda}(1) = bel_{n,\lambda}$ are called the partially degenerate Bell numbers. From (1.1) and (1.5), we note that

$$\begin{aligned} \sum_{n=0}^{\infty} \lim_{\lambda \rightarrow 0} bel_{n,\lambda}(x) \frac{t^n}{n!} &= \lim_{\lambda \rightarrow 0} e^{x((1 + \lambda t)^{\frac{1}{\lambda}} - 1)} \\ &= e^{x(e^t - 1)} = \sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!}. \end{aligned} \tag{2.2}$$

Thus by (2.2), we get

$$\lim_{\lambda \rightarrow 0} bel_{n,\lambda}(x) = Bel_n(x), \quad (n \geq 0). \tag{2.3}$$

From (2.1), we can derive the following equations

$$\begin{aligned}
 \sum_{n=0}^{\infty} bel_{n,\lambda}(x) \frac{t^n}{n!} &= e^{x((1+\lambda t)^{\frac{1}{\lambda}} - 1)} = \sum_{m=0}^{\infty} \frac{x^m}{m!} \left((1+\lambda t)^{\frac{1}{\lambda}} - 1 \right)^m \\
 &= \sum_{m=0}^{\infty} \frac{x^m}{m!} \left(e^{\frac{1}{\lambda} \log(1+\lambda t)} - 1 \right)^m \\
 &= \sum_{m=0}^{\infty} x^m \sum_{k=m}^{\infty} S_2(k, m) \lambda^{-k} \frac{1}{k!} \left(\log(1+\lambda t) \right)^k \\
 &= \sum_{k=0}^{\infty} \left(\sum_{m=0}^k x^m S_2(k, m) \lambda^{-k} \right) \frac{1}{k!} \left(\log(1+\lambda t) \right)^k \\
 &= \sum_{k=0}^{\infty} \left(\sum_{m=0}^k x^m S_2(k, m) \lambda^{-k} \right) \sum_{n=k}^{\infty} S_1(n, k) \frac{\lambda^n t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left\{ \sum_{k=0}^n \sum_{m=0}^k S_2(k, m) S_1(n, k) \lambda^{n-k} x^m \right\} \frac{t^n}{n!}.
 \end{aligned} \tag{2.4}$$

By comparing the coefficients on both sides of (2.4), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$bel_{n,\lambda}(x) = \sum_{k=0}^n \sum_{m=0}^k S_2(k, m) S_1(n, k) \lambda^{n-k} x^m. \tag{2.5}$$

Note that

$$\lim_{\lambda \rightarrow 0} bel_{n,\lambda}(x) = \sum_{m=0}^n S_2(n, m) x^m = Bel_n(x), \quad (n \geq 0).$$

From (2.1), we observe that

$$\begin{aligned}
 \sum_{n=0}^{\infty} bel_{n,\lambda}(x) \frac{t^n}{n!} &= e^{x((1+\lambda t)^{\frac{1}{\lambda}} - 1)} = e^{-x} e^{x((1+\lambda t)^{\frac{1}{\lambda}})} \\
 &= e^{-x} \sum_{k=0}^{\infty} \frac{x^k}{k!} (1+\lambda t)^{\frac{k}{\lambda}} \\
 &= e^{-x} \sum_{k=0}^{\infty} \frac{x^k}{k!} \sum_{n=0}^{\infty} \binom{k}{\lambda}_n \lambda^n \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left\{ e^{-x} \sum_{k=0}^{\infty} \frac{1}{k!} x^k (k|\lambda)_n \right\} \frac{t^n}{n!},
 \end{aligned} \tag{2.6}$$

where $(x|\lambda)_n = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda)$, $(n \geq 1)$ and $(x|\lambda)_0 = 1$. By (2.6), we get

$$bel_{n,\lambda}(x) = e^{-x} \sum_{k=0}^{\infty} \frac{1}{k!} (k|\lambda)_n x^k. \tag{2.7}$$

In particular, if we set $x = 1$, then we have

$$bel_{n,\lambda} = \frac{1}{e} \sum_{k=0}^{\infty} \frac{1}{k!} (k|\lambda)_n, \quad (n \geq 0). \tag{2.8}$$

Therefore, by (2.7) and (2.8), we obtain the following theorem.

Theorem 2.2. *For $n \geq 0$, we have*

$$bel_{n,\lambda}(x) = e^{-x} \sum_{k=0}^{\infty} \frac{1}{k!} (k|\lambda)_n x^k.$$

In particular,

$$bel_{n,\lambda} = \frac{1}{e} \sum_{k=0}^{\infty} \frac{1}{k!} (k|\lambda)_n.$$

From (2.1), we note that

$$\begin{aligned} \sum_{n=0}^{\infty} bel_{n,\lambda}(x+y) \frac{t^n}{n!} &= e^{(x+y)\left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)} \\ &= \left(e^{x\left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)} \right) \left(e^{y\left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)} \right) \\ &= \left(\sum_{l=0}^{\infty} bel_{l,\lambda}(x) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} bel_{m,\lambda}(y) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} bel_{l,\lambda}(x) bel_{n-l,\lambda}(y) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.9}$$

Thus, by (2.9), we obtain the following theorem.

Theorem 2.3. *For $n \geq 0$, we have*

$$bel_{n,\lambda}(x+y) = \sum_{l=0}^n \binom{n}{l} bel_{l,\lambda}(x) bel_{n-l,\lambda}(y).$$

Now, we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} bel_{n,\lambda}(x) \frac{nt^{n-1}}{n!} &= \frac{\partial}{\partial t} F(t, x) = \frac{\partial}{\partial t} e^{x\left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)} \\ &= x \frac{1}{1+\lambda t} (1+\lambda t)^{\frac{1}{\lambda}} e^{x\left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)}. \end{aligned} \tag{2.10}$$

It is not difficult to show that

$$\begin{aligned} (1 + \lambda t)^{\frac{1}{\lambda} - 1} &= \sum_{l=0}^{\infty} \left(\frac{1}{\lambda} - 1\right)_l \lambda^l \frac{t^l}{l!} \\ &= \sum_{l=0}^{\infty} (1|\lambda)_{l+1} \frac{t^l}{l!}. \end{aligned} \quad (2.11)$$

From (2.10) and (2.11), we have

$$\begin{aligned} \sum_{n=1}^{\infty} bel_{n,\lambda}(x) \frac{t^{n-1}}{(n-1)!} &= \sum_{n=0}^{\infty} bel_{n+1,\lambda}(x) \frac{t^n}{n!} \\ &= x \left(\sum_{l=0}^{\infty} (1|\lambda)_{l+1} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} bel_{m,\lambda}(x) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(x \sum_{m=0}^n \binom{n}{m} bel_{m,\lambda}(x) (1|\lambda)_{n-m+1} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.12)$$

Therefore, by (2.12), we obtain the following theorem.

Theorem 2.4. *For $n \geq 0$, we have*

$$bel_{n+1,\lambda}(x) = x \sum_{m=0}^n \binom{n}{m} bel_{m,\lambda}(x) (1|\lambda)_{n-m+1}.$$

In particular,

$$bel_{n+1,\lambda} = \sum_{m=0}^n \binom{n}{m} bel_{m,\lambda} (1|\lambda)_{n-m+1}.$$

For $n \in \mathbb{N}$, we have

$$\begin{aligned}
 bel_{n,\lambda}(x) &= e^{-x} \sum_{l=1}^{\infty} \frac{x^l}{l!} (l|\lambda)_n = e^{-x} x \sum_{l=0}^{\infty} \frac{x^l}{l!} \frac{(l+1|\lambda)_n}{l+1} \\
 &= e^{-x} x \sum_{l=0}^{\infty} \frac{x^l}{l!} \frac{1}{l+1} \sum_{k=0}^n S_1(n, k) \lambda^{n-k} (l+1)^k \\
 &= e^{-x} x \sum_{k=0}^n \sum_{l=0}^{\infty} \frac{x^l}{l!} \lambda^{n-k} S_1(n, k) (l+1)^{k-1} \\
 &= e^{-x} x \sum_{k=0}^n \lambda^{n-k} S_1(n, k) \sum_{l=0}^{\infty} \frac{x^l}{l!} \sum_{j=0}^{k-1} \binom{k-1}{j} l^j \\
 &= e^{-x} x \sum_{k=0}^n \lambda^{n-k} S_1(n, k) \sum_{l=0}^{\infty} \frac{x^l}{l!} \sum_{j=1}^k \binom{k-1}{j-1} l^{j-1} \\
 &= x \sum_{k=1}^n \sum_{j=1}^k S_1(n, k) \lambda^{n-k} \binom{k-1}{j-1} e^{-x} \sum_{l=0}^{\infty} \frac{x^l}{l!} l^{j-1} \\
 &= x \sum_{k=1}^n \sum_{j=1}^k S_1(n, k) \lambda^{n-k} \binom{k-1}{j-1} Bel_{j-1}(x).
 \end{aligned} \tag{2.13}$$

Therefore, we obtain the following theorem.

Theorem 2.5. For $n \in \mathbb{N}$, we have

$$bel_{n,\lambda}(x) = x \sum_{k=1}^n \sum_{j=1}^k \binom{k-1}{j-1} S_1(n, k) \lambda^{n-k} Bel_{j-1}(x).$$

From (2.1), we have

$$\begin{aligned}
 \sum_{n=1}^{\infty} \frac{d}{dx} bel_{n,\lambda}(x) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \frac{d}{dx} bel_{n,\lambda}(x) \frac{t^n}{n!} = \frac{\partial}{\partial x} e^{x((1+\lambda t)^{\frac{1}{\lambda}} - 1)} \\
 &= \left((1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right) e^{x((1+\lambda t)^{\frac{1}{\lambda}} - 1)} \\
 &= (1 + \lambda t)^{\frac{1}{\lambda}} e^{x((1+\lambda t)^{\frac{1}{\lambda}} - 1)} - e^{x((1+\lambda t)^{\frac{1}{\lambda}} - 1)}.
 \end{aligned} \tag{2.14}$$

Note that

$$(1 + \lambda t)^{\frac{1}{\lambda}} = \sum_{l=0}^{\infty} (1|\lambda)_l \frac{t^l}{l!}. \tag{2.15}$$

By (2.14) and (2.15), we get

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{d}{dx} bel_{n,\lambda}(x) \frac{t^n}{n!} &= \left(\sum_{l=0}^{\infty} (1|\lambda)_l \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} bel_{m,\lambda}(x) \frac{t^m}{m!} \right) - \sum_{n=0}^{\infty} bel_{n,\lambda}(x) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} bel_{m,\lambda}(x) (1|\lambda)_{n-m} - bel_{n,\lambda}(x) \right\} \frac{t^n}{n!} \\ &= \sum_{n=1}^{\infty} \left\{ \sum_{m=0}^{n-1} \binom{n}{m} bel_{m,\lambda}(x) (1|\lambda)_{n-m} \right\} \frac{t^n}{n!}. \end{aligned} \tag{2.16}$$

Therefore, we obtain the following theorem.

Theorem 2.6. For $n \geq 1$, we have

$$\frac{d}{dx} bel_{n,\lambda}(x) = \sum_{m=0}^{n-1} \binom{n}{m} bel_{m,\lambda}(x) (1|\lambda)_{n-m}.$$

References

1. G. E. Andrews, *The Theory of Partitions*, Cambridge: Cambridge University Press, **1998**.
2. E. T. Bell, *Exponential polynomials*, Ann. of Math. **35** (1934), 258–277.
3. J. Brillhart, *Mathematical Notes: Note on the Single Variable Bell polynomials*, Amer. Math. Monthly **74** (1967), no. 6, 695–696.
4. F. Brafman, *On Touchard polynomials*, Canad. J. Math. **9** (1957), 191–193.
5. L. Carlitz, *Some polynomials of Touchard connected with Bernoulli numbers*, Canad. J. Math. **9** (1957), 188–190.
6. L. Carlitz, *Some arithmetic properties of the Bell polynomials*, Bull. Amer. Math. Soc. **71** (1965), 143–144.
7. L. Carlitz, *Arithmetic properties of the Bell polynomials*, J. Math. Anal. Appl. **15** (1966), 33–52.
8. O. Chrysaphinou, *On Touchard polynomials*, Discrete Math. **54** (1985), no. 2, 143–152.
9. L. Comtet, *Advanced Combinatorics*, Reidel: Kluwer, **1974**.
10. H. W. Gould, T. He, *Characterization of (c)-Riordan arrays, Gegenbauer-Humbert-type polynomial sequences, and (c)-Bell polynomials*, J. Math. Res. Appl., **33** (2013), 505–527.
11. Herscovici O, Mansour T, *Identities involving Touchard polynomials derived from umbral calculus*, Adv Stud Comtemp. Math, **25** (2015), 39–46.
12. L.-C. Jang, T. Kim, *Some identities of Bell polynomials*, J. Comput. Anal. Appl. **20** (2016), no. 3, 584–589.
13. D. S. Kim, T. Kim, *On degenerate Bell numbers and polynomials*, Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales, Serie A. Mathematicas **2017**, 1–12, DOI: 10.1007/s13398-016-0304-4.
14. D. S. Kim, T. Kim, *Some identities of Bell polynomials*, Sci. China Math. **58** (2016), no. 10, 2905–2104.
15. D. S. Kim, T. Kim, *On degenerate Bell numbers and polynomials*, Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Math. RACSAM, **111** (2017), no. 2, 435–446.
16. T. Kim, D. S. Kim *On λ -Bell polynomials associated with umbral calculus*, Russ. J. Math. Phys. **24** (2017), no. 10, 69–78.

17. J. Riordan, *An Introduction to Combinatorial Analysis*, Princeton: Princeton University Press, **1980**.
18. S. Roman, *The Umbral Calculus*, New York: Academic Press, **1984**.
19. M. Wyman, L. Moser, *On some polynomials of Touchard*, *Canad. J. Math.* **8** (1956), 321–322.
20. Z. Zhang, J. Yang, *Note on some identities related to the partial Bell polynomials*, *Tamsui Oxf. J. Inf. Math. Sci.* **28** (2012), 39–48.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: tkkim@kw.ac.kr

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA

E-mail address: dskim@sogang.ac.kr

HANRIMWON, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: dvdolgy@gmail.com